Find the amount of change (increase or decrease) from a pemrcent

H Gw T 0 of change

1. Id=ntify the original or beginning amount and ths peresnt or rate of changs,
2, Multiply the decirmnal or fractional equivalent of the rate of changes times the criginal or
beginning amount.

Armount of change = percent ofchangs 0 original armncunt

EXAMPLE 3 Your company has announced that you will receive a 3.2% ralss, If

your current salary s 342,560, how much will your ralss be?

What You Know

Current salary = F42,5a0
Rate of changs = 3.2%

What You Are Looking For

BAmount of ralse

Solution Plan

of ralse = amount

Amount (p-src-snt -::f) (-::-riginal)

changs

Amount ofralss = percent ofchangs = original amount

3. 2% (542 5600

0.0320%42,560)
= E1.,3/1.92

Blultiply.

Created with
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_The raise will be $1,361.92.
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STOP AND CHECK

1. The price of anew Lexus is £33,444, The previous year's 2 Intradmg on the New York Stock Exchangs, Bank of
model cost $51 088 What 15 the amount of merease? America fell to §73.57. The stock had sold for $81.99, What

1 the amount of decrease m the steck price par share?

2 Find the new amount directly in percent problems.

Often In inereass or decreass problemes we ars mors interested n the new armount than the am ount
of changs, "We can find ths new amount directly by adding or subtract ing pesreents first. Ths orig-
inal or begimning amount 1= always consideared to be cur Base and 12 repressntsd by 1009,

H 0 w T 0 Find the new amount directly in a percent probkem

1. Find the rate of the new amount.

For mersasz=: 1 00%: 4+ rates of mer=sass
For decreaszs=: 100% — rate of decreass

2., Find the new armount.
& = RE

MNess armmount = rats of news amount > origimal armocunt

I=dical assistants ars 1o receive a 9% Incer=ase In wages per houarn
Ifthesy were making $15.25 an hour, what 1z the mevw wage per Ronr to the nearsst cent?

100% 4+ rate of mer=sass
100% + Q9

E at= of new armount

1 099
MNeww amount = rate ofnew amount > origimal amount
= 109%(£E15.257 Changs Fhto its dectmal squivalsnt.,
= 1.09CFE15.250 Tl I Gskted with
= Ela.a225 Plesmr =~ —cunte PDF’ .
= Bleez nex{fl-Nitro - professional
“The new hourly wage is $106.62. download the free trial online at nitropdf.com/professicnal



New amount = rate of new anount » orignal amount

= 30%(E49,09) Change % to s decimal equivalent,
= (0.3($49.99) Multiply,
= $14,007 New amnount
= £15.00 Nearest cent
STOP AND CHECK
1. Marilyn Baner eams 362,270 and gets a4, 2% ralse, How 2. Intematicnal Paper repeorted third- quarter samings wers down
rmuch iz her new salary? 16% from $145 million. Find the third-quarter samings.

3 Find the rate or the base in increase or decrease problems.

MMany kinds of Increase or decrease problams involve findmmg 2ither the rate or the base,
The rate 1z the percermt of charege or the percert of orease ordecrease, The base 15 st1ll the
artgral amanrt

HOW T0O Find the rate or the base in increase or decrease problems

1. Identify or find the amount of change (incrsass or decreass).
2. To find the rate of mersase or decrease, use the percentags fonmula & =

0] "o

armmount of changes

R =

origimal ammount
_ F
2, To find the bass or original amount, use the percentags fonmmula % =| =
Created with
armmount of change PDF’

B = e~ M nitro™ professional
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EXAMPLE 6 During the month of May, a graphic artist made a profit of £1,525,

In June she mad=s aprefit of £1,708 What 1 the percent of nerease in profit?

Vfhat You Know

Original amount = $1,525
Mew amount = $1,708

What You Are Looking For
Pereent of mersase in profit

solution Plan

Armnount of Inereass = new amount — original amount

arnount of mereass

FPercent of merease = —
original ameount

Arpount of nereass = $1,708 — £1,525 Subtract,
= F183

$1283

Perrent of ncreass = Divide,

$1.525

012 Comvert to % equivalent,

0.127100%:)
12%

The percent of increase in profit is 12%. = nitro prO‘ essional
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EXAMPLE 7 At Best Buy the price of a DVD player dropped by 20% to 5179,

“What was the original prics to the nearest dollar?

YWhat You Know

E=duced price = nsw amount = £179
Rate of decrease = 20%

What You Are Looling For

Original price

Solution Flan

Eate ofreduced price = 100% — rate of dacreass

sze the formula to find base, & = E

£

r=ducsd price

Original price =
£ P rate of raduced price

100% — 20%

Eate of reduced price

F170 : .
Oricinal price = ——— Convert ¥ to declmal squivalent,
EREE B0%
_ 178 Dirvide.
0.8
= §223°75 FEound to nearest dollar
= k224

Mal
'oI'hE: original price of the DVD player was $224. :

1 download the free trial online at nitropdf.com/professicnal



8-1 SINGLE TRADE DISCOUNTS

1 Find the trade discount using a single trade discount rate;
find the net price using the trade discount.

List prices and dizcounts apply the percentage formula,

Portion (part) = rate (percent) ¢ base (whole)

The portion is the trade disrount T, the rate 1z the single trade discount rate A, and the base
15 the list price L.

#=RE
"= KL

H 0 w T 0 Find the trade discount using a single trade discount rate

1. Identify the single discount rate and the list price,
2. Multiply the list price by the decimal equivalent of the single trads disccunt rate.

Trade discount = single tfrade discount rate > list price
I'= AL
Eecangze the trade discount 1 deducted from the list price to g2tthignet price, once you know
the trade discount, you can caleulate the net price, “ nitroPDF profes SiOﬁa|
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HOW T0O Find the net price using the trade discount

1. Tdentify the list prics and the trade discount.
2. Subtract the trads discount from ths list prics.

Met price — list price — tradese discocunt

it

Lo — U7

The= list price of a refrig=srator 13 E1 200 Young s Appliancs Stors
can buy the refrigsrator at the li=st prics lsss 20%, Ca) Find the trads discouant. (B) Find thes n=t

Erice ofthes refrig=srator.

fal Trades disconnt

T = R
T o= Z20%CE1,. 2000
T = 0.20E1.2000
TT= Ez210
The trade discount is $240,
(b INMet price = list prices — trade discount
N = . — I
N = (1,200 — EZ240
MNo= Eaad

The net price is Foad.

STOP AND CHECK

1. The st price of an NSX-T Acura s $39,763, Shavells

Automobiles can buy the car 4t the list price less 12%,
a. Fd the trade discount,

by Find the net price of the car

v

singls trades discount rate < 1ist prics

DNecount rate b= 20%; 11zt price =2 E1.200. Change
the percent to a decinal squilvalsnt, Miultipls.

List price 12 £1.200; trades dizcount =z E20,
Subtract.,

2. Find the trade discount and net price of an elsetre
VeloB nder that has aretall price of $124 and atrade

discomnt of 2%,

Created with

M nitro™" professional
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Find the net price using the complement
of the single trade discount rate.

Ancther method for caleulating the net price usss the complanerst of a percent, The complement
of a percent 1= the differsncs batwwssan 1 00% and the given percent. For sxampls, the complament

of

A% 13 BD%, as 100% — 25% = a5%. Ths complsment of 209 15 209 becanse 100% —

20% = B0%,

The complasment of the single trads discount rate can be used to find the net price, Obgsrve

the relationships among the rates for the list price, discount, and nst price.

List price Discount {amount off list) Met price {amount paid)
1 00 25% of list price To% of list price
1 00%% 20% of list prics A0% of list prics
1 00 A0% of list prics BO% of list price
1 00%% S0% of list prics S0% of list prics

Becaunss the complsment 15 a percent, it 15 a rats. The complsment of the trads discount rat=

15 the net price rate. The singls trads discount rate is used to caleulate the amount the retaller does
Mot pay: the trads discount. The net price rats 15 ussd to caleulats the amount the retaller does payr:
th= n=t price,

HOW T0O Find the net pnce using the complement of the single trade discount rate

TA

Find ths n=t price of a computsr that
lists for £2.200 =#ith a trade discount

of A0 %,
Fimd the nst price rats: Subtract the singls 100% — 25% = 62%
trads discount rate fform 100%,
ultiply the decimal equvalent of the net M=t price = 0.650F32,200)
Ericse rate by the list prics. = f2,020
MNet price = nstpricerate = list plz_fll_f,_-?_d_“tl_

o 4

e smtiamPDF’ :
MNet price = (100%: — singls trads discount ralxn = m!tm-e p ro{e SS10MNd |
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EXAMPLE 2 Mays" Statlonery Store orders 300 pens that st for $0.30 each,

200 pads that ligt for $0.60 each, and 100 boxes of paper clips that st for $0.90 each, The single
trade digeount rate for the order 18 12%. Find the net price of the order,

300050300 = § 90 Find the total list price of the pens.

200050800 = $120 Find the total list price of the legal pads,
1000E0.90) = § 90 Find the total [ist price of the paper clips,
$300 Add to find the total list price of the entirs order,

Netprice = (100% — single trade discountrate) % hstprice  The smgle trade discount rate
15 129, the liat price 1 $300

= (100% - 12%)($300) The complement of 129
15 Bo %,
= BR%(E300) Write 880 a5 a decimal,
- 0.88(5300) Muliply
= }264
The net price of the order is $264. Created with

M nitro™" professional
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STOP AND CHECK

1. Find the net price of the PC software SystemWorks that 2, The InFocus LP 120 projector lists for §3,200 and has 2
lists for $70 and has a discomnt rate of 12%, trade diseount rate of 13%. Find the net price,

8-2 TRADE DISCOUNT SERIES

1 Findthe net price applying a trade discount series
and using the net decimal equivalent,

Complaments are used to find net prices dirsctly, For the $400 purchase with discounts of
2001043, the net price after the first discount 1s 80% of $400 since 100% — 20% = 30%,

0804007 = F320
The net price after the second discount 1 90% of $320,
0.905320) = 2823

The net price after the third digeount 15 95% of 222, o
0.95($288) = £ Spitro™" professional
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To condense this procass, the decimal equivalents of the complements of the discount rates can
be multiplisd 1n a continuous sequenes,

(0LE)0.99(0.95)( 34000 = 063454000 = $273.60

The product ofthe decimal equivalents of the complements of the discount rates In a seriss 15 the
net decimal equivalent of the net price rate,

Find net price using the net decimal equivalent of a trade
H Ow T 0 discount series

Find the nat price of a copy machine
1fthe ligt price 1s §1,230 with a serles

diseoumt of 10710,
1. Find the net decimal equivalent: Multiply 0.900.9) = 0,31
the decimal form of the complement of 2ach
trade discount rate n the sariss,
2, Multiply the net decimal equivalent by the Net price = 0.81(51,830)
list price, Net price = $1,482.30

Net price = net decimal equivalent %18t Bhjee . .
M nitro™" professional
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EXAMPLE 1 atons Powesll found a set of surmound-sound spealcers for his bistro

that lists for E600 and a trade discount seriss of 151045, What 1s the net price that Stons will pay?

100% — 15% 20 T 0,85 Find the complsment of sach discount rate and write 1t as an
100% — 10% Q0T 0,9 equivalent decimal
100% — 5% = Q5% = 0,85

028500, 9NC0.95) = 072675 hultiply the complements to iind the net dacimal equivalent.
MNet price = nst decimal =equivalent = list prics
= 072675 E a0 The net declmal squivalsnt s 072675,
= F426.05 the list price e Fa00,

The net price for a $600 set of surround-sound speakers with a trade discount series of
15/10/5 is $4306.05,

E x A M P L E 2 One marmfacturer lists a desk at 3700 with a discount serles of

20/10/10, & second manufacturer lists the sarmne desk at $A50 with a diseount series of 10410410,
YWhich 15 the better deal?

What You Know What You Are Looking For Solution Plan

List price for first d=al: F700 MNet price for the first deal Mzt price = net dacimal
Discount geries for first deal: | Net price forthe second deal equivalent > list price
2070710 Which deal on the desk is

List price for second better?

deal: oS0

Discount series for second croatdd with

deal: TOTOF10 ﬁ_ni:l:m"“':'professional
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Diecimal equivalents of complements of 209, 10%, and 10% ars 08, 0.9, and 0.9, respectively.

MNat decimal equivalsnt = 0,800,970, & Ci=al 1
= 1,643
MNet price for first deal = (064205700
= FE453.80
Decitnal equivalents of complemeants of 10%, 10%, and 10% are 0.9, 0.9, and 0.9, respectivaly.
Met decimal equivalent = 0,900,97200,97 Dieal 2
= 1,729
Meat price for second d=al = (072905650
= E472.85

Concluswon

The net price for the first de=al 12 $20.25 less than the net price for the second d=al
(EAT73.85 — F452.60 = E20.25),

The first deal—the $700 desls with the 20/10/10 discount series—is the better deal.

ISTOP AND CHECK

1. Findthe net price of a plano that has a list price of §4,500 2. The web stie wiww Mobile-Tromes.com offers a three-deck
and a trade dwcount senes of 104, matrumert cart at aretal (list) price of £33 md atrade
disconnt series of 126, What i the net price?

Created with

M nitro™ professional
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8-3 CASH DISCOUNTS AND SALES TERMS

1 Find the cash discount and the net amount using ordinary
dating terms.

T encourags prompt payrment, many mat factursrs and wholessalers allow bagrers to talcs a cash
discount, a r=ducticon of the amount due on an nvweics, The cash discount s a specified penceantagse
ofths price ofthe goods, Customens who pay their bills ithin acerttain tins recsive a cash discount.,
Dlany companiss use computerizsd billing systems to compute the 2xact amount of a cash discount
and shoss it on the prvolcs, 5o the customesr doss not nesd to caleulats the discount and resulting nst
price. But the custorner still dsterminess when the Bill moust be pald to receive the discount.

Bills ars often dus within 30 dayrs from the date ofthe invoicse, To determins the sxact dasyr of
the month the pagment 15 dus, rou have to know heoww many days ars n ths month, 20, 21, 258, or
249 in the cass of Febrary. Thers are tswo ways tohelp remember which months haves 31 days and
which hawe 20 or feweser days. The first method, shown In Figure 2-1, 18 called the frenckle
method, Hach lcnuclcle repregents a month with 31 days and each space between knuclkless repre-

sents a month with 20 days (except February, which has 28 dagys except n a leap syresar, when it
has 297,

Jan Mar MY 1
Feb. Apr. Juns

FIGURE &-1

The knuckle months (Jan_| Mar , May, Juby, g Created with

Oct  and Dec ) have 31 days. The other months have P . PDF’ .
20 or fewer days. (n '1 I"Iltro p FO‘FEE SSIONAa |
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Another way to remeamber which months have 20 days and which months have 21 18 the fol-
lowing thymme:
Thirty days has September,
April, Junes, and MNovember,
All the rest haws 31,
‘cept Febriary has 28 alcne.
And lsap year, that’s the times
when Febrmiary has 29,

HOW T0O Find the ending date of an interval of time

1. Add the baginning dats and the number of days in the interval

2. If the sum exceeds the number of daye m the month, subtract the number of days m the
month from the surm.,

4., Theresult of step 2 will be the ending date in the next meonth of the mtereal,

E KA M P L E 1 If BMarie Husne has an involes that 1z dated Blarch 19, what 1z the

date (a) 10 dasye later and (b) 12 days later?
fal 19 4+ 10 = 29
Ten days later is arch 29,

by 19 + 15 = 24 March has 21 days.
2 — 31 = 3 Created with

Fiftcen days later is April 3, M nitro™" professional
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H O w T O Find the cash discount

1. Tdentify the cash discount rate and the net prices.
2. Multiply the cash discount rate by the net prics.

Cash discount = cash discount rate > net price

Tormrniye Adams received an mvoles dated July 27 from Webb
Prmting Services that shews anet price of 3450 with the terms 2410, nf20, (a) Fnd the latest date
the cash discount 1s allowad, (B) Find the cash discount.

{a) The cash discount 15 allowed up to and meluding 10 days from the mvolcs date, July 27,

2 Mh of Tuly Involes dats
+ 10 days Daye allowed according to terms 27510
# ATth of July™ If Tuly had 37 dazs ...
— 31 days n July Iuly has 21 days.
Gth of August Latest date allowesad

Auoust 6 isthe latest date the cash discount is allowed.

ib) Cash disccunt = Cash discount rate < nst price
Cash discount = 29054507

0020 E4500

= E9.00

The cash discount is $9.00. I.1 nitroPDF'

Created with
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HOW T0O Find the net amount

Using the cash discount:
1. Identify the net price and the cash discount.
2. subtract the cash discount from the net price,

Met amount = net price — cash discount

Using the complement of the cash discount rate:
1. Id=ntifyr the nst price and the complament of the cash discount rate,
2. Multiply the complemsent of the cash discount rats by the nst price.

Met amncunt = complsment of cash discount rate < nst prics

Find the n=st amount for the mvoles In Exampls 2.
Using the cash discount:

Met amnount = net price — cash discount
= F450 — %0
= f441

Using the complement of cash discount rate:

Met amount = complament of cash discount rate = net price
(100% — 28&10E450

0. 93CE450)

F441

Created with

The net amountis 5441, PDF’
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Charming Shoppes received a $1,248 inveoles for computer sup-
pliss, dated September 2, with sales terms 210, 1715, n/30, & 5% late fee 15 charged for pagment
after 30 days. Find the amount due if the bill 15 pald (a) on or befors Septernber 12 (B) on or

betwesn September 13 and Septamber 17, (2] on or between September 18 and October 2 and
(d) on or after October 3,

(a) If thebill iz pald cn or before September 12 (within 10 days), the 2% discount appliss:

Cash discount = 2%[E1,242) = 0.02(F1,248) = $24.96
Net amount = $1,242 — E24.968 = £1223.04

The net amount due on or before September 12 is $1,223.04.

(b) If the bill 1z pald on or betwesan September 13 and September 17 Gwithin 15 days), the 1%
discount appliss:

Cash discount = 19%0E1,2428) = 0.01(F1,248) = F12.48
Net amount = $1,248 — $12.48 = 1,235.52

The net amount due on or between September 13 and September 17 is $1,235.52,
(e) Ifthebill 1z pald on or betwesan September 18 and Oetober 2, no cash discount appliss,

The net price of $1,248 is due.
(d) If the bill 1z pald on or after Oetober 3, a 5% late fa= 15 added;

Late fee = 5%(E1,242) = 0.050F1,248) = Fa2.40
MNet amount = $1,248 + F62.40 = £1,310.40

Created with
The net amount due on or after October 3 is $1,310.440. I nitroPDF prO{E‘SSiOﬂﬂ
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STOP AND CHECK

1. An mvolce recerved by Best Buy and dated March 13 hias a 2 PBederated Depariment Stores recerved an myolze dated
niet price of 983 with temms 2/15, /30, Find the latest date April 18 that shows a billing for $3,248.96 with terms 2110,
acash dieount 1 allowed and fmd the cash duscount, Find 1115, 0/30, Find the cash dwscomt and net amowt of the
the net amout, trvoiee 15 paid withm 13 days but after 10 days,

9-1 MARKUP BASED ON COST

1 Find the cost, markup, or selling price when any
two of the three are known.

Yisualize the relationships among the cost, markup, and the s=lling price. The basie relationship
can be written as the formula
selling price = cost 4+ markup
= = O + A

Eelat= this to the concept that two parts add togsther to get a sum or total. Then we can de-
velop variations of the formula using the concept that the sum or total minus one part gives
the cther part.

iCost = selling price — markup

c= 5 - M |
MMarkup = selling price — cost Cmat%d'ﬁ'th . PDE’ _
¥ = 5§  —c (W nitro" professional
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Find the cost, markup, or selling price when any two of the three
HOW TO X *°

[dentify ths two known amounts.

[dentify th= missing amount.

select the appropriate formula.

subestitute the known amonnts nto the formula,
Eraluate the formula

B

EXAMPLE 1 YWhat 15 the selling price of a media charging station if the cost 1s

E22.25 and the markup 1= £5.647

What You Know What You Are Looking For Solution Plan

Cost = F2R.35 selling price selling price =
Markup = $5.64 cost 4+ markup
Solution

o= 0+ M onbetitnte mown wvalues,
So= 52835 + 54 Add,
& = FE32.00

Conclusion

The =selling price of the media charging station is B339 . .
N nitro™" professional
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EXAMPLE 2 Fapro buys travel mugs for $2.45 and s=lls them for £5.23 What

15 the markup?

What You Know What You Are Looking For Solution Plan
hlarkup =
selling price — cost

M =75 —C Substitute Imown values,
Af = ES 88 — E2.45 Subtract,
Lt

Conclusion
The markup is $3.43.

EXAMPLE 3 Kroger 1z selling 2-liter Colke at £1.29, If the marluap s £0.35,

what 1z the cogt?

What You Know What You Are Looking For Solution Plan

Cost =
selling price — markup

Selling price = £1.29

Substitute mossn walass.,
Subtract.

Created with

The cost of the 2-liter Cole is $0.94. ii ! ‘ al
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STOP AND CHECK

1. Charlie Cook bought a light fixturs that cost $32 and 2. Margaret Davis sells akey fob for $12.95 and 1t coste §7.
marked 1t up $40. Find the selling price, Find the markup.,

2 Find the cost, markup, selling price, or percent of markup
when the percent of markup is based on the cost.

"When the markup 18 bas=sd on cost, the cost 18 the bass in the basie percentagse fonmula
M= RE
"WWe can apply the percentags formula to markup to get the formula
Flarkup = rate of markup > cost or & = MEL0CT
Then, we can find variations of the fomula by solving the squation for sach wariabls,

Solve for A9,

A = LT Chivids both sides by O
i B
% = % E=dure,
E = i Write the 1solated wariabls on the l=eft.
it
A, = E
Solve for O
M = ML Diivide both sides b @,
AL ML)
M M Reduce.
yito
= Witk the zolat=d wvariabls on the l=ft,
i e
M C I'l-:'&tléd "\."-u'ltl'l
C = [ ] » ]
AT ~ PDF
i M nitro™" professional
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Find the rate of markup based on the cost, the cost, or the markup
H 0 w T O when any two of the three are known

1. Identify the known and unknown amounts,
2. aelect the formula variation that has the unkmeown on the left of the squation.

M = MT(C Use the decimal equivalent of A%,
A
ML = = (1 00%:) Change to apercent by multiplying by 100%,
it : :
L= Use the decimal equivalent of A%,
F

A, Substitute the known amounts nto the formula,
4, Solve for the missing arncunt,

EXAMPLE 4 Cnilke’s Photography pays £9 for a5 in-by-7 in. photograph., If the

photograph 1z sold for $£15, what 15 the percent of marlup based on cost? Eound to the nearest
tenth of a percent.,

What You Know What You Are Looking For solution Plan

Cost = £0 Rate of markup Marlip = selling price — cost
Cogt® = 1 00%

Selling price = §15

Created

A
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Find the amount of markup:

A =5 — Substitute known values mto the formula
M= %15 — o Subtract.
A = F& Amount of markup
Find the rate of markup:
AT, = E[l Q0T substitnte lrnowwn valuess mto the formula

-

A .

AT = %[1 (0155 Dirvide.
A = 0EETTT 00%:) Ecundsd to thousandths, Change to percent equivalsnt.
AT = 66, T% Eate or percent of markup

Conclusion
The percent of markup based on cost of the photograph is 06.7 %%,

EXAMPLE 5 A boutlque pays 35 a pair for handmade earrings and sells them al

a J0% markup ratz based on cost. Find the selling price of the sarmgs,

solution Plan

What You Are Looking For

Amount of markup
selling price

What You Know

Cost = §5
Markup % = 50%

rofessional
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Find the amount of markup,

M = M0 anbet itute kmown amounts.

M = S0%E Change the percent to ts decimal equrvalant,
M= 05055 Lultiply,

A = §2.50

Find the s=lling price.

b= 0+ 8 substitute kmown amounts,

S = %5 + £2.50 Add,

S = F1a0

Conclusion

The selling price of the earrings is $7.50.

EXAMPLE 6 & DVD movie was marked up $6.30, which was a 40% markug

based on cost, What was the cost of the DVDY

What You Know What You Are Looking For solution Plan
Marlup = $6.530

M% = 0%

Ao
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T o— e Substitnts kbaoossn s ournts.
] Eofreros
= M Changos percent o 1ts decrnal sguivalent.
=} 1
=, 50
o~ i

Ir1vvid=.

The cost oFf thhe DV moovie was Fl16.25,

If ths markup iz based on cost, the cost percent 18 100% and the s=lling price percent is
100% + the markup percent.

Find the cost when the selling price and the percent of markup
H 0 w T 0 based on the cost are Known

1. Find ths rate of s=lling price.

Eate of s=slling price = rate of cost + rats of markup based on cost

A% = 100% + W%
2. Find the cost nsing the formula

11; ] o
Cost = s=llng price

rate of s2lling price based on cost 5
Created with

3. Changs the rate of gelling prics to a numerical esquivalent and A *-rids. o PDF’ .
N nitro - professional
A1
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XAMPLE 7 & camera sells for £20. The markup rate 15 50% of the cost, Find

the cost of the camera and the markup.

What You Know What You Are Looking For Solutuon Plan
Selling price = E20 ot S = 100% + A
AT = S0% Markup o = Ay
% = 100% ol
A =5 — O

Find the s=lling prics rat=:

S = 1T00%F 4+ WS Substitute bnossn armn ournts.
g2 100% + S0%: Add,
S = 1509

Find the cost:
iy

= substituts known arm ounts.
=
= £20 “hang= the percent to its decirnal equivalent.
150%
$2|:| D' E d
= = 1vid=.
1.5
o= F13.23 Eounded to the nearsst cent
Find ths markup:
A = 5 — O Substitute known amounts,
A = E20 — (1333 Subtract.
A = ER.67

The cost of the camera is $13 33 and the markup is $6.67. n‘j Iilll! !| !| !!!|!| Ial
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STOP AND CHECK

1. Fmdthe pereent of markup based on cost for a table that 2 A file cabmet costs $145 and sells for $197.20, Fnd the
costs $220 and sells for $399, Round to the nearest tenth of percent of markup based on cost,
a percent,

9-2 MARKUP BASED ON SELLING PRICE AND MARKUP COMPARISONS

1 Find the cost, markup, selling price, or percent of markup
when the percent of markup i1s based on the selling price.

WWhen the markup s bassd on s=lling prics, the rats of the s2lling prics 18 known and 15 100%,
The amount of the s2lling prics 1s the base In the basie percentage formulas P = AFE,
e can apply the percentage formula to markup to get the formula

Marlktup = rate ofmarkup < selling price or M = MULLE)

Then, we can find variaticns of the formula by solving the equation for each variabls.

Solve for A,

A = TN Divide both sides by W5
A
% _ ;r:ﬂt] Simplify.
— = A W rite the zolated warlable on the 1=t
o Created with
M : - ¢ s ~PDF’ -
Ao, = = MY 15 exprassed as a decimal “ I"IItI"O pro{e55|0ﬂa|
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Solve forld,

M = ML Divide both sides by M% m decinal form.,
M ML
= Snplify.
M%  M% mmplity
M . . .
=3 Write the olated variable on the left.
M
FIGURE 9-2 M
Marlkup Based on Selling Price 5= A,

Find the rate of markup based on the selling pnce, the selling price,
H O w T O or the markup when any two of the three are known.

1. Tdentify the kmown and unlmncwn amounts,
2. &elect the fommula variation that has the unknown on the left sids of the squaticn.

M = ML UUse the decimal equivalant of MY,

A
M = E[l (0 G) Changs to a pereant by multiplymg by 100%,

v
Bo= Use the decimal equivalent of MY,
JL b
A, aubstitnte the known amounts nto the formula, Created with

4, Solve for the missing amount. ‘m nitroPDF-p rO](eSSiOﬁa|
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EXAMPLE 1 A caleulator costs £4 and zells for £10. Find the rate of markup

bassd on the s=lling prics.

What You Know What You Are Looking For Solution Plan
Cost = F4 Amount of markup MMarkup =
Selling price = £10 Eate of marlup bassd on selling price — cost

the selling prics

Af
AT = Eﬂ 0% )

Find the markup:

M=5 —C =substitute kmoswn values mto the fomula,
A= 310 — 4 Subtract.,
M = Ea Amount of markup
Find the rate of markup:
A

AT = E[l I %) Substitute Imowwn valuss into the fonmula,
A —EEIDD@’] Divad

* = %10 o 1vide,
M = (a0 O0%:) i_hanges to percent equivalent,
M = B0% Eats or percent of markup

Eraate! wit!

The rate of markup for the calculator is 00 %. . . .
M nitro™" professional

CIN download the free trial online at nitropdf.com/professicnal



EXAMPLE 2 Find the cost and selling price if a handbocok s marked up £S5 with

a 20% marlup rate based on s=lling prics,

What You Know What You Are Looking For Solution Plan
Mlarkup = £S5 Selling price M
MT: based on Ciost ATy
sellng price = 20% =5 — M

Fimd the selling pric=:

A :
a2 AT Substitute kmossn amounts,
ES . . .
&= Zhang= percent to its decimal 2quivalent.
209
ES .
o = 0z Dhivide,
& o= E25 Selling prics
Finmd the cost:
o = — Substitute kmown amounts.
= $25 — ES Subtract,
= 20 ot

The =elling price of the handbools is $25 and thg snltm!‘ pro!essional
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'STOP AND CHECK

1. A textbook costs $98 and sells for $70. Find the rate of
markup based on the s=llng price, Round to the nearest

tenth pereeant,

2. The manufacturers suggasted retall price for arefrigerator
15 $1,499 and 1t costs $385, What 1s the rate of markup

based on the suggested retall price?

9-3 MARKDOWN, SERIES OF MARKDOWNS, AND PERISHABLES

1 Find the amount of markdown, the reduced (new) price,
and the percent of markdown.

Markdcewns are generally based on the oniginal selling price, That i, the original selling price 1a
the base n the percentage formulas and the rate of the sellmg price 13 1009,

Find the amount of markdown, the redouced (new)} pnce, and the

H Ow T 0 percent of makdow n

1. PFlace= the lcnown values mto the chart:

E T
1 00

Original S=lling Pricse L5
Bl arlcd omsm Cibd)
E=duc=ed (INew) Frice (A7)

2. S=l=ct the appropriats formula bas=sd on the knovwsn valuss:
MMarkdowwn = ocrigmal s=lling price — reduced prics A = 5 — N
= originmal s=lling price — marlcdassgaah N = .5 —

Eedurced price = M
amount of markdowe . 1odfl) NHPOT oraskessional

criginal s=lling prics

Eate of markdossn =
download the free trial online at nitropdf.com/professicnal
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EXAMPLE 1 L4 lamp originally seld for £26 and was marled down to s=ll for

£30, Find the markdown and the rat=s of markdown (to the nearsst hundredth].

What You Know What You Are Looking For Solution Plan
S = £35 Marlk down Iy %
N = 20 Eate of marlcd ommn = A5 100%

L

N 20

M=5 — N

A
M = E[l Ly

Find the marled oo :

A =5 — N Substitute known wvalues,
A = E3a — 20 Subtract.
M = Ea Mark d owwn
Find the rate of marlcdossn:
P Eﬂ Q0T substitute mown values,
5
A, = ﬁ_ﬁﬂggg@ FPerform caleulaticns.
A5
MF = 016666666657 (100%:) Fat= of marlcdown
AT = 18, 7% FEounded

The markdown is $6 and the rate of markdown is 16.7 %.

M nitro™ professional
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XAMPLE 2 A owwallet was originally priced at $12 and was reduced by 25%,

Find the markdown and the sals (new) prics,

What You Know What You Are Looking For Solution Plan
S = E12 Blarld comn Iy o
Ao, = 25 o, s ale price T 172 1 005,
A 2.0 %
N
A = MO
N =5 — A&

Find the marlcd comern:

M = A% 50 Substitute lrnown values.

M = 25%(E12) Change percent to ite decimal equiralant,
M = 02505127 Blultipls.

M = E3 Mlarlcd cmmm

Find the sals (new) prics:

N =45 — i Substitute known values.

N = %12 — E3 Subtract.

N = E9 Sale price

Concluson
The markdoevwn is $3 and the sale price is §$9.

M nitro™" professional
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2 Find the final selling price for a series of markups
and markdowns.

Prices are m a continuous state of flux in the business world, Markups are made to cover -
craased costs, Markdowns are made to move merchandise mora rapidly, to move dated or perish-
able merchandise, or to draw customers into a store,

somatimes prices are marked down several timeas or marked up betwesan markd owns befors
the merchandiss 15 sold, In caleulating 2ach stage of prices, markups, markdowns, and rates, we
nse exactly the same markupfmarkdown formulas and procedures as before, To apply these for-
mulas and procedurss, we agres that both the markup and the markdown are based on the

previons sellme price nthe series,
H 0 w T 0 Find the final selling price for a seres of markups and markdowns

1. Fmnd the first selling price using the grven facts and markup procedurss i Sections 9-1 and 9-2,

2, For each rermaming stage in the series:
(a)] If the stage requires amarkdowr, 1dentify the previous selling price as the ortgral sell-

me price.d for this stage, Find the reduced price N, This reduced price 15 the new selling

price for this stage,
(b)) If the stage requires a markup, 1dantify the previous selling ];:-r'lu:e as the cast O for this

reated w

stage. Find the sellmg price S. This price is the new sellifi= pnu: for ti;gl:sta
4. Identify the s2lling price for the last stage as the froal se?.!.!m,gn cnlt FO{ESSIOI’78|
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EXAMPLE 3 Bzslinda’s China Shop pald a wheolesals price of F200 for a s=t of

imported china On August 8, Belinda mark=sd up the china 20% bassd on the cost. On October 1,
she markead the china deswn 22% for a special 10-day promotion. On October 11, she marked the
chinaup 153%. The china was agaln marlksd down 30% for a preholiday sals. What was the final

szlling price of the china?

What You Know

What You Are Looking For

Solution Plan

Cost = EROO
stage 1! markup of 209,
basad oh cost

stage 2 markdown of 22 %
bassd ocn selling prics

stage 4 markup of 15%
bas=sd on new selling prics

Stage 4 markdeoswn of 20%
bas=sd on new selling prics

selling prics for stags 1 05D
selling price for stags 2 (M)
selling price for stags 2 0550
selling price for stags 4 (M)

Find the s=lling prics for
cach stage using the
formulas:

o = OO0 4+ A0
N = 5% — A
o = AR
MNo= NGO

Stage 1) August 8

Find the first selling price (5)), which 18 a markup, based on cost:

i3 T
- B0 100
A S0
N 1,200 150

Stage 2 Oetober 1

a1

T = C% + M%
% = 100% + 50%
5,% = 150%

S = %)

5 = 150%CEROO

S = 1.50E200)
= F1,200

Created wilh

M nitro™" professional
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Find the szcond selling prics (8], which 15 a markdown, uwsing %, as the original s=lling price:

% 0, N = 5% — M% Ny = NGs )
3 1200 | 100 N,% = 100% — 25% N, = T5%($1,200)
¥ 25 N,% = T5% N, = 075051200
N, a00 75 N, = [$900

aStage 3 Oetober 11
Find the third zelling price (5], which 18 a markup, using M, as the cost:

¥ i s = No% + M% ag = S PelN,)
A a0 100 S5% = 100% + 15% Sy = 115%CE900)
Af 13 St = 1153% Sy = 1150900
o 1,055 115 Sy = §1,035

stage 4 Final markdown
Find the final selling price (N, which 15 a markup, using 55 as the selling price:

¥ 07, Ni%o = 5% — M% Ny = N%o5s)
5 1,035 100 Ny = 100% — 305, Ny = TO%(E1,025)
A A0 N,% = T0% N, = 070E1,035)
Ny T24,510) T Ny = E724.50

Conclusion

Created with

M nitro™" professional
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EXAMPLE 4 Burdinss" has waricus salss racks throughout the stors, Chlos

Dl finds a coat that she would liks to purchass from a rack labslsd 40% off. She also has a
newspapsr coupon that reads *Talkkes an additional 10% off angy already reduced price.” How much

will she pay for acoat (net price)
duction

What You Know

that was originally priced at £1457 What 1z the total rate of re-

Original price = £145

Dzecount rates are 40%:

and 1 0%,

What You Are Looking For Solution Plan
Final reduced prics Find ths net decimal squiva-
Teotal percent of reduction lent of the rate you pay:

MNet price =

nst decimal squivalant =
original price
Total rate of reduction =

(1 — n=t decimal =qurralent)
=1 00

Find th= net decimal squivalent:
060097 = 0.5

Find th= final reduc=d prics:
(0.5 E145) = E72.30

Find th= total rat= of
reducticn:

1 — 0534 = 0,445

04501 009 = 45%

kultiply the complsments of 2ach rats.

BAultiply the net d=cimal squralent tiimes the criginal
Price,

The complement of the net decimal equivalant s the
decimal equivalent of the total rate of reduction.

Fercent equivalent

The final reduced price is $78.30 and the total percent of maﬂﬂgo . pr(:)‘ eSSIOﬂal

aA
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ISTOP AND CHECK

1. Find the net price of the PC software System Works that 2, The InFoeus LP 120 projector lists for $3,200 and has a
lists for $70 and has a discomnt rate of 12%, trade diseount rate of 15%, Fnd the net price,

3 Find the selling price for a desired profit on penshable
and seasonal goods.

Most busimessas anticipats that some seasonal merchandise will not s2ll at the orignal selling
price, Stores that sell perishable or strictly seasonal temes (fresh fmults, vegetables, swimsuts, or
coats, for exanple) usually know from past expenience how much merchandise will be marked
down or discarded because of spotlage or merchandise out of date, For example, most retail

stores mark down holiday tems to 30% ofthe origmal price the day after the holiday, Thus, mer-
chants st the ongmal markup of such tems to obtam the degred proft level based on the pro-

L

jacted mumber of tems sold at “full price™ (the orignal sellng price),

Created with
M nitro™" professional
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HOW T0O Find the selling price to achieve a desired profit

1. Establish th=rats of profit (markup)l—bas=sd on cost—d=sgsired on the sals ofthe merchan diss.
2. Find the total cost of the merchandiss by multiplying the unit cost by the quantity of
merchandis=s, Add in additional charges such as shipping.

Find the total desired profit (markup) based on cost by multiplying the rate of profit
(markup) by the total cost,

Find the total s=lling prics by adding the total cost and the total desired profit.

Establish the quantity expected to gell,

Divide the total s=lling prics (step 4 by the esxpect-to-g21l quant ity (step 5.

o

SR

total selling price

selling prics par item to achisvse desired profit Gmarlap) = expect tosell quantity

EXAMPLE 5 resn’s Orocery speclalizes m fresh fruits and vegstablss, Bdsr-

chandise 18 priced for quick sale and some must be discarded because of spollage. Hardy Green,
the owner, receives 400 pounds of bananas, for which he pays £E0.15 per pound. On the average,
&% of the bananas will spoll. Find the selling price per pound to obtain a 172% marlap on eost.

What You Know What You Are Loolking For Solution Plan
400 b of bananas at F0.15 sellng price per pound Total eost = cost per pound
per potnd » number of pounds
175 % markup on cost Marlup = M%)
(desired profit) Total s2lling price = O + &
A% experctad spollags FPounds expactad to 521l =
Q2T (A0
crdhimEiing price per pound =
L tgtal sedmps pric .

\al

sional



= F0.1504000 = Es0 Find the total cost of the bananas,
M= 175Fa0) = £105 172% = 1.75. Find the desired profit (markuap).
S =C + M= Fa0 + E105 = E165 Find th= total s=lling price.

Hardy must receve £165 for the bananas he sxperts to sell. He expects 8% not to sell, or
L2 % to s=ll

09204000 = 268 Establish how many pounds he can sxpect to s=1l.

He can expeact to ge2ll 268 pounds of bananas.

total selling price

=elling price per pound
£F Pl P pounds expected to s=ll

F185

= 35z FO4A483695652 or £0.45

Concluson

Har dy must sell the bananas for $0.45 per pound to receive the profit he desires. If he
sells more than 22% of the bananas, he will receive additional profit.

STOP AND CHECK

1. Drewrey's Market pays $0.30 per pound for 300 pounds of 2 Cozort's Produce pays $0.35 per pound for 500 pounds of
peaches, On average, 3% of the peaches will spoil before apples. On average, 8% of the apples will spoil before they
they sell, Find the sellmng prize per pound needed to obtan sell. Find the setlmeg'price per pound needed to obtam a

a 1 80% markup on cost, 1758, m:a_rlmp“st.nitropnpprofessi Or']a|
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GROSS PAY

Ermnployess may be pad azeordmg to asalary, an hourly wage, a plecework rate, of a commissicn
rate, Employers are required to withhold taxes from employes payehecks and forward these

taxes to federal, state, and local govemiments,

1 Find the gross pay per paycheck based on salary.

Companiles differ in how often they pay salaried employees, which determines how many pay-
charks an employes recelves n ayear. If employess are pald weekly, they receive 52 paycheacks
a year; if they are paid biweekly (svery two wesks), they receive 26 paychecks a yearn
Ssemimonthly (twice a month) paycheacks are 1zsued 24 times a year, and monthly payehecks

come 12 times a year

HOW TO  Find the gross pay per paycheck based on annual salary

1. Identify the mumber of pay periods per year:
Monthly—12 pay periods per year
samimonthly—24 pay periods per year
Biwaekly—26 pay periods per year
Weekly—>52 pay periods per year

2, Divide the annual salary by the numnber of pay periods per j,re{ n‘p::HWEE%nF@E SiOﬂ a|

download the free trial online at nitropdf.com/professicnal
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EXAMPLE 1 Charles Demetrion sams a salary of $60,000 a year,

(a) If Charlss 15 pald biweslkly, how much 15 his gross pay per pay period befors taxes ars
taken out?

(b) If Charlss 15 pald semimonthly, how much 15 his gross pay per pay period?

() Fa60,000 + 26 = £2,307.69 Brweskly paychecks are wssusd 26 times a year,
Charles earns $2,307.69 biweekly so divide Charles’s salary by 26
before deductions.

(b) 60,000 + 24 = £2,500 Semimonthly paychecks are ssuad 24 times a

Charles earns $2,500 ssmimonthly  v=ar, so divide Charles’s salary by 24,
before deductions.

STOP AND CHECK

1, Ryan Thomas eamg $42,822 a year, What Is his biweekly % Jaswant Jam earns $32,928 anmially and 15 paid

aT0ss pay senimonthly, Find his eammngs per pay period

Created with

M nitro™" professional
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2 Find the gross pay per weekly paycheck based
on hourly wage.

Many jobs pay according to an howely wage, The hourly rate, or hourly wage, 15 the amount of
money pald for each hour the employes workes n a standard 40-hour work week, The Fair Labor
Standards Act (FLSA) of 1938 set the standard work weelk at 40 hours, When hourly employess
work mors than 40 hours I a weel, they 2am the hourly wage for the first 40 hours, and they
=2arn an overtime rate for the remamimmg hours, The standard overtime rate i often called time
and a half By law, it must be at least 1.5 (one and one-half) times the hourly wage, Eamings
based on the hourly wags are called regular pay. Eamings based on the overtime rate are called
overtime pay. An hourly employes’s gross pay for a pay period 1s the sum of his or her regular

pay and his or her overtimes pay.

HOW TO Find the gross pay per week based on hourly wages

1. Find the regular pay:
(a) If the hours worked m the wesk are 40 or fawer, multiply the hours worlkeed by the hourly
wWage,
(b) If the hours worked are mors than 40, multiply 40 hours by the hourly wage,
2, Fmd the cvertimes pay:
(@) If the hours worked are 40 or fewer, the overtime pay 15 B0,
(b) If the hours worked ars mors than 40, subtract 40 from the hours worked and multiply

the difference by the cwvertime rate, Created with
3. Add the regular pay and the overtime pay. n nitroPDF'p rofessional
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When Does the Week Start? Bven 1f an employee 1 pard biwaskly, overtime pay 12 still basad on
the 40-hour standard work week, So overtime pay for 2ach wesk m the pay period must be cal-
culated separately, Also, 2ach employer sstablishes the formal work wesk, For example, an em-
plover's work week may begin at 12:01 a3 Thursday and end at 12;00 midnight on Wednesday
of the following week, allowing the payroll department to process payroll checks for distribution
on Friday. Anocther employer may begm the work week at 11:01 M. on Sunday evening and and
at 1100 1, on sunday the followmng week so that the new week comeldss with the begimning of
the 11 BM.~7 &3, shift on Sunday.

Marrla Scott, whose hourly wage 1 $10.25, worked 46 hours last
wesk, Find her gross pay for last week if she sames time and a half for overtime,

400510250 = F410 Find the regular pay for 40 hours of work a the hourly wage,
46 — 40 =& Find the overtime hours,
EEI[fEl 025301 .Slj = F92.25 Find the overtime pay by multiplying the overtirne hours by

the cvertime rate, which is the hourly wage tirnes 1.5, Eound
to the nearsst cent,

F410 + $92.25 = £502.25 4dd the regular pay and the overtime pay to find Marcla's

total gross samings. oo with
= . F . " .
Marcia’s gross pay is $302.25. I nitro™" professional
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DID YOoUu
KNOW?

Some salaried employess do samm overtune pay for hours worked abowe 40 hours per wesk, A
comimch misconception 18 that gsalaried employess do not sarnm overtime, An smployes that is
momexenpt from FLS A& 1= entitled to overtimne, To be exampt fTom FLE A, an emplosyes must meet
the test for exempt status as defined by fadaral and state lawes.

If an employes 15 salaried and nonexempt, the cvertime pay rate 18 calculated by applying the

following process:

1. Ifthe salary 15 defined as a monthly salary, multiply the monthly salary by 12 months to gst
the anmial salarye.

2., Divide the annual salary by 22 (weseks) to gt aweskly salary.

4. Divide the weskls salary by the maximurn naumber of hours iIn a regular work wesk (400 to
get the regular hourlsy pagr rats.

<4, Multiply the regular hourly pay rate by 1.5 to g=t the owvertime hourly pay rate.

Arm Glover earns a monthly salary of $3,600 and iz nonexempt
fromn FLSA, Last week she worked 56 hours, What are her overtime eamings for the week?

F3,800012) = §43,200 Annual salary
$43.200 = 52 = $230.77 Weekly pay rate
FRIOTT = 40 = 2077 Heourly pay rate
F20.7701.5) = $31.16 Crvertine pay rate
a6 —40=1a Heurs of overtime weorked
160$31.168) = $498.56 Crvertitne pay o

Ann Glover earned $498.56 in overtime pay for the week, (I nitro™>" prc:}fewonm
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STOP AND CHECK

1, Shekenna Chapman eams §1.83 per hour and worked 48 2 McDonald’s pays Kelyn Blackbum 1.5 times her hourly
hors 1 aweek, Cvertme 16 pad 4 1.0 times howrly pay. pay for overtme, She worked 32 hours one week and her
Whit 15 her gross pay’ hourly pay is $13.36, Find her gross pay for the week.

3 Find the gross pay per paycheck based on plecework wage.

Many employars metivate smnplovess to produce mers by paying aceording to the quantity of ac-
ceptable work done, Such piecework rates are typically offered m production or manm facturing
jobs, Ganment makers ad some other types of factory workers, agrienltural workers, and em-
ployess who perform repatitive tasks such as stuffing envelopes or packaging parts may be paid
by this method, In the simplast cases, the gross samings of such workers are caleulatad by mul-
tiplying the mrnber of tems produced by the straight piece work rate.

sometinas employess eam wages a a differential piece rate, also called an escalating
piece rate, Az the nmber of tems produced by the worker mereases, so does the pay per tem,
This method of paymng wages offers employees o even greater Incentlve to complete more
plecas of work Ina given period of time, n nithDF'p ‘ofessional
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H 0 w T 0 Find the gross pay per paycheck based on piecework wage

1. If a strarg bt precework rate 18 used, multiply the mimber of tems completed by the straight
plerewnork rate,
2. If adfferential precewark rate 15 used;
(a) For each rate category, multiply the number of temns produced for the category by the
rate for the category,
(b) Add the pay for all rate categories,

A shirt mammfacturer pays a worker $0.47 for each aceeptable shint
nspected imder the preseribed job description. If the worker had the following work record, fmd
the grogs eammngs for the week: Monday, 250 shirts; Tussday, 300 shirts;, Wednasday, 178 shirts,
Thursday, 326 shirts; Friday, 296 shirts,

250+ 300 + 174 4+ 326 + 206 Find the total numnber of shirts mapactad.
= 1,200 shirts
1,3500%0.47) = $634.50 Multiply the number of shirts by the plecework rate,

Created with

The weekly gross earnings are $634.50. PDF"
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Last wesk, Jorge Sanchez assembled 317 game boards, Find Jorgs’s
grogs earnings for the weel if the mannfactursr pays at the following differential piece rates:

B cards assembled per week Pay per board
Firzt 100 E1.82
Mezt 200 F1.92
Oiver 200 F2.08

Find hew many boards were completed at each pay rate, multiply the number of boards by the
rate, and add the amounts.

First 100 terme: 1000F1.82) = E122.00
Mext 200 temes: 200051920 = 538400
Last 17 items: 170(E2.08) = % 35328

Fa01.38

Jorge’s gross earnings were $601.36.

STOP AND CHECK

1, JR Tmkler and Co. employs pear and peach pickers on a 2. A rubber worker 1s paid $3.50 for ezch fimished tre, In a

plecework basis, Pan] Larson picks enough pears to fill 12 aven week, Dennis Swartz completed 21 tires on Monday,
bins In the 40-hour work week, He 1s pad ot the rate of §70 27 tires on Tuesday, 18 tres on Wednesday, 29 tres on
per b, What 15 his pay for the week? Thursday, and 244mes-on Friday, How much were his gross

weekly emingW Mitro™" professional
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4 Find the gross pay per paycheck based on commission.

Many salespeople eam a commussion, a percentage based on sales, Those whose entire pay 13

commigsion are sad to work on straight commussion. Those who reerve asalary i addition to
acommission are said to work on a salary-plus-commission basis, A commussion rate can be a
pereent oftotal sales or a percent of sales greater than a specified quota of sales,

HOW T  Findthe gross pay per paycheck based on commission

1. Fnd the commission:
(a) Ifthe comrmission 18 commission based on total sales, multiply the commission rate by
the total sales for the pay perod,
(b) If the comrmission 18 conmnission based om guota, subiract the quota from the total saleg

and mmltiply the difference by the commission rate,

2, Fmd the salary:
(a) If the wage 13 straisht commission, the salary 15 B0,

(b) If the wage 15 commussion-plus-salary, determne the gmsié”ﬁﬁf"t'ﬂgsed chgialary. _
3. Add the commission and the salary. ‘N nitro pr0{955|0ﬂ8|
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